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SECTION-A

Question numbers 1 to 12 carry 1 mark each.
o 79 1 F 99 12 (& 200® JeURe 1

ot wgq 1 (AR 12 9% 2TEF 0o S |

1. If L.C.M. (91,26)-182, then H.C.F. (91,26)=
T el AL @ (91,26)=182, cofed AT (91,26)=
Ifr 7 AL @ (91,26)=182, T AALE (91,26)=
(@) 13
(b) 26
fe} T

(d) 9

2. According to Euclid’s Division Lemma, given two positive integers ‘a’ an
‘b, there exist unique integers ‘g’ and ‘r’ such that —

o Feer Al e w5l ¢S s Tl ‘9) SR b’ e a7
ey ode WA ‘g’ R r’ AR WS —

Folren Reias Al @A 7 @eE I9e WA ‘@’ @38 D (el UFE &
75 wifeoy TAe AN ‘@° GR 7’ AT GFAEH —

(a) a=bgq+r, O<r<b

(b) a=bg+r, O<r<b

(/0 a=bg+r, O0<r<b

{dj a=bg+r, O0<r<b
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If the graph of the polynomial y = f(x) intersects X-axis at two points,
then number of zcros of f(x) is — 1

I y = fx) qweiv AR FLCNE X-r53 1ol e (& S (908 f(x) T N
el B9 —

i y = flx) w=em 2l ERve xX-rwE 7' fvre o 3@ 9ws f(x) -4
*d ARAN TR —

(@) O
(b) 3

(c) 1

(d) 2

One root of a quadratic equation is 2 and sum of the two roots is O, the
cquation is — 1

451 f9re TR B! I 2 T o oI AR 0, SAFEAT! 29 —

=5 faare SN @@ @ 2 932 T wiva @ 0, AN’ ™A —

@ x>+4-0
(b) x*-4-=0
c) 4x°-1=0

(d x*-2-0
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5. AABC is an isosceles triangle in which ZC=90". If AC =6cm, then
AB = 1

ABC @bl ez fage 3% £/C=90". I AC =6 (B, (SfoTl AB =
ABC @3l ez fage (@it /C=90°. I AC=6 (i, S(s AB =
(a) 62 cm (&) (GIf3.)

(b) 6cm (&) (GLAL)

(c) 26 cm (&) (Gifi)

(d) a2 cm (&) (Gifi.)

6. The mid-point of the line segment joining the points (-6,5) and (-2, 3)

a
i _)4 = ]
is ( 3 ) then a |

w|c:

(-6,5) Oi% (-2, 3) FepEicRE @R sy | ( ] LH, ad TN 8H =

(-6,5) @& (- 23)%3@@@2{[%@%}%@[% ]m aF W TE =
@ -4

(b} -12

(c) 12

(d) -6
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7. Value of sinﬂcos(QO“—ﬁ)Jr cosﬁsin(QO"—@J is — 1
sz'n_,ﬁcus(90° -0 )+ cos(?sz'n(90° -6 ] LR O pe—

sim?cos(QO" ~0 )k cos 6’31’?1(90" ~0) <7 T @ —
(@) —1

(b) 0

8. If the altitude of the sun is at 60°, then the height of the vertical tower
that will cast a shadow of length 30m is — 1

A TAf® 60° 20E, 30 /7 i< o Teoiw 371 TeTg B 5 Tl 27 —

e Tafe 60° A, 30 /7 (e wE Teol A I BeT wren Tl od —

(@ 15m (F.) ()
30
®) gFm™ @) (A)

¢ 15¥2 m (A.) ([.)

@ 30v3m () (f)
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9, If the circumference of a circle is 44 cm, then its area is —

aol &9 Afsfa 44 & 20H, TR I T3 —

&<{b qoes oAfdfe 44 1A TH, 93 Fife 2@ —
(@) 276cm’® (@fi2) (FTf2)
() 44em® (F?) (CLIR?)
€ 176cm’ (®A2) (FIA2)
(d) 154cm® (®f[2) (G1fi2)

10. The volumes of two spheres are in the ratio 64 : 27. The ratio of thel
surface area is —

WOl (9T WA SHAS 64 : 27 | PiEes *PIfeH SRaire T3 —
76 (A AT oS 64 : 27 | ©Hd JPRR Sole & —
(@) 1:2
(b) 2:3
(c) 9:16

(d) 16:9
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11. The median and mode of a data are 33 and 45 respectively. Then its
mean is — ’ 1

G5 ©Lje SR B IS IAGC 33 T 45 T, W g4 —

Gfb OTAR YR G I IAGCT 33 €3 45 A, Y T —
(a) 30
(b) 33
G 27
(d) 35
12. A ‘numbe_r is selected from the first 100 natural numbers. The probability
that the number is divisible by 7 is — 1

s 1005 FoRE TR o[ L5 72l R 29 | A 7« KelE @RR weiiE
. -

es 10010 Fref@s 7 (@ 9ofb 7o @ew = | e 7 aid Feem 2euE
HETO! B —

7
(a) 0
11
(b) 100
1
€ =
13
(d) 100
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SECTION-B

13. Prove that 3+ 2+/5 is irrational.
e @9 @ 34 245 Sy |

e N (A 3+ 245 OIE |

14. Find the 20th and 25th terms of the AP : 3, 8, 13, 18, .............

NG 2 3, 8, 13, 18, v q 209 TR 25 oW 131 BEed |
S 2ol 3, 8, 13, 18, coovnnn.. &7 20T 3% 257 A 9o @@ FA |

15. Find the value of k, if the following points are collinear :
ool [ (FXD1 GFEATT 20 kI T Tfored ¢

fesn Rpefsr qomde o@ k-9 W @@ @@ e

(7,-2).(5,1), (3, k)

~16. Given sz’nA=—i—, find cosA, tan A, cot A and secA.
fra =i sinAzg, COS A, tan A, cot A T& sec A T |

(@SR Y (4] sinA:%, CoS A, tan A, cot A 9% sec A &F FE |
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17.

18.

19.

Prove that : 2
b | S | T

£ 1 O B ) R

cos A +l t sin A
l+sinA coS A

=2secA

Show that — 2
med (@ —

e A —

sin30° +tan45° - cosec60° 43 -24+/3

sec 30’ +cosH0” + cot 45" 11

A lot consists of 144 ballpens of which 20 are defective and the others
arec good. Nila will buy a pen i it is good, but will not buy if it is
defective. The shopkeeper draws one pen at random and gives to her.
What is the probability that ' 2

() She will buy 1t ?

(ii) She will not buy it?

1445| 4i(5 L G T FECTS 2051 T (T TR SR ABIRIS wied | eTe, G61
gl e Az 2 o @@ OR (@ 27 AR | (i Aies St 9ol
s O wize e | Teikel F e

(i) Iz 9ol e
(i) ©i% GZbl et
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20.

21.

1445 F@Toitea O fb o 206 @ Aol a2 SRMBStE ©iF | T 9B a#iew
o @ i om 2 gk Ao T e A | neErE SR Ok & s
5o faet | @ fooel 5 @

() 19 fawras

(i) @ ferz wie

SECTION-C

Obtain all other zeros of 2x* -3x® -3x? +6x -2, if two of its zeros ar:

J2 and « 2.

2x* —3x% —3x% +6x -2 '3 AP WHRET = THEEA, IF TWE B = J2 S
o
—y2 I

2x* - 3x% - 3x? + 6x -2 T SRR BT W @@ @, Tww @@ ¥ 9wy o &
_J2 = '

Solve the following pair of linear equations
w54 (afle FATERECTR FNLH T4 |
ffre ek FacarTd A FE |

4x+9y =5, 3x-5y=39
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22. Find the roots of the following equation : 3
TER AASAUDIE S ferefu <l

fopa FTFREDE = [efy el

x* —3x-10=0

23. Find the nature of the roots of the following quadratic equation. If the
real roots exist, find them. 3

wee Tl fGEie ATG=eTEE T e el 91| afn e e A REN Tlered |

fmewe fare FTGahe Yoo aghe 5 e | W aiw Ie1 AI0E 9igE (@@ FE
2x° —6x+3=0

Or / %=l / 29

Sum of the areas of two squares is 468m? . If the difference of their
pcrimeters is 24m, find the sides of the two squares.

w5l qofe SR @oee 468 4.2 | 3 251 R AR ALF 24 5. & (=L o
wBig 9 g Tleed |

ufS arsfa wifea e 468 @2 | T =l w5 wAREmg w2y 24 /5. 2, ©raee 39 9od
qies Trdy (< Al
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24

25.

How many terms of the AP : 9, 17, 295, ........... must be taken so tha:
thecir sum 1s 636 ? 3

9. 1% 85, o es eeifersE sfe 636 #iiktE 2@ ﬁmmﬁvm‘a‘aaﬁ%c
§. 7. 98 e SIS 2ofeloa W 636 (2ire 20w Foul o e @

or / @i / &g

A sum of Rs.700 is to be used to give seven cash prizes to students of
a school for their overall academic performance. If each prize is Rs.2
less than its prcceding prize, find the value of each of the prizes.

Q2 fausieize Qe-gq) aee e (Fee (7 ed HRWRSR A 9 700 5a+
ANl i gelq Aa%iq fuaq w0l 25 | I Al Shl 4EEET @ ©F WERGOE 20 b &=
2, (oecE wfethl oemEa Yo ey ==

9% AwEeE ge-gdlod el AR Fesere siienior e (5 700 BRAE e
w19 @ xa frre o7 | 7 o s 357 ©r weEha (dE 20 iRl a9 @, wiwE

Diagonals AC and BD of a trapezium ABCD with AB||DC intersect eacs
other at the point O. Using a similarity criterion for two triangles, show

that =4 =22, 3
OoC OD

ABCD GHf&Rs™ AB||DC 9% AC % BD 3 7eI(# %91 O faqe (1 <=1

OA OB

WWWWTW?@W@QW e
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26.

2.

ABCD Giifeaisa AB||DC @=¢ AC €= BD 3 76 #r™7@ O fmqee (v 34 |

d’ﬁﬁmﬁmw%wmmmm%—%l

Check whether (5, -2), (6,4) and (7, —2) are the vertices of a triangle.
If so, name the type of the triangle formed. 3

(5, 2) (6, 4) 9= (7, - 2) RFqrzs 95 fages Ay o < | 2 23,
(S0% (@ 4R fqo o0 29 OF arE &5

(5,-2) (6 4) @ (7, -2) el <= fHgem M W = fo a1 200 @0
Ifr =7, SrrE D (W w@ove aee =wE, T A (el

Find the area of the shaded region in the following figure, where ABCD
is a square of side 14cm. 3

woTe el Bea wimelve SR Ffe THEA, TS 14 (B4 A2 ABCD «bf 9(0%4q |

frmere fhafbz siselve Seana FfF (F=Tes) @ a6, @AIE 14 ¢L.A I8 ABCD
GG 2siFa |

A B
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SECTION-D

28. Solve the following pair of equations by reducing them to a pair of linea
equations.

OEd A EEE (TE (4fE FNFATE e TR ANEW =

03 AT (AIE AN hATd Fd 7= T |

_g_+i_2 i___i__l
% N G \@
Or / 92« / T2
A fraction becomes —, if 2 is added to both the numerator anc

i)

denominator. If 3 is added to both the numerator and the denominator.

it becomes g Find the fraction.

_ 9
GGl ©2lies® afv ojq SF 29 TeAre 2 (5] [ T (0T S0 - e g o) ==

5
% Toure 3 (5 91 T (ST SR = = | ST Tieed] |

B16-GM (EN/AS/BN) [14]



29.

9
G S I 719 W3R W T TF 2 @9 9 =, wiate ouiei® Thd fr

5
4 Q3 [ TeEE AF 3 (@9 Gl o8, T aﬂﬁl%iﬂg | S @@ =

In a right-angled triangle, prove that the square of hypotenuse is equal

to the sum of the squares of the other two sides. 4

T fager, amid T (@ WewEd @5 W Y5l A%E 394 (AT TN |

o3 FEA (@ G TR Tere sfeerzz a5f o 76 o asla @eEeEg A9 |

Or / 924q] / g€/

ABC is a right-angled triangle, right angled at B. AD and CE are the

3J€m,
2

medians drawn from A and C respectively. If AC=5m and AD =

find the length of CE.

FFl [@ge ABC 4 B (@4 | AD 9% CE &9 A R C I #@0 94y | qfw

AC =5 [, S Angﬁc, CE% vd] &g o1 |

ABC @& Wil f@gred B 9@ | AD 93 CE %6 9@ A @3k C< (A
3\(0

wifare WqEey | A% AC =5/ @2 AD = 3. 77, ©i3rF CE-3 7y g st |
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30. Two poles of equal heights are standing opposite each other on either
side of the road, which is 80 m wide. From a point between them on the
road, the angles of elevation of the top of the poles are 60" and 30
respectively. Find the height of the poles and the distances of the poin

from the poles. -

a5l 80 fii514 %5 %4 1IFIE FaW Tover 7o ¥ 2ewa FhiE wgdaE] (2 f
o =i | s 4% 4o e 7 GOR o| 9 55F AEa Toa (I IUECT 60° TE
30°, 4 qoia Twel S Y6 G Sa b e Weld w4

<35 80 A5 Sewl 7wy 7fre Aue Theow 75 4% @b s wryuas o=
wifera e | TER 4% 7Hz i @l JEE (e 4% 703 ek Safe oo adieE |
60" @2 30° | I 7w Twel @z 46 7= vz Frgloa e Fef s

31. Two tangents TP and TQ are drawn to a circle with centre O from an|
external point T. Prove that ZPTQ =2 ZOPQ . 4

451 A T4 % O (@THYE @bl Jeta1 TP Sk TQ Tois ™fF ol T4 | 2l =
(Gor PIO= 2 2 OPQ:

51 AW T2 (@ O (U G 08 TP R TQ 76 ™ DIl 21 | &¥lef &=
@ £LPTQ =2 ZOPQ.
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32.

Or / 9 / G494

In the following figure, XY and X'Y’' are two parallel tangents to a circle
with centre O and another tangent AB with point of contact. C intersecting

XY at A and X'Y'at B. Prove that ZAOB =90".

o[ @ O (FUTE J&F XY iR X'y’ FOF Tl " Sld “Ax{[d CS oH
GTE T AB @ XYS ASER XY'E BSI5| oNd 3 @ LAOB =90,

fse ord O @WgE qred XY @@ X'y’ 4T6 SFiede e 3k =g C-9
sy % E AB -5 XY-&F A-(® 932 X'Y' (@ B(S (H a2 | 999 & (T
/ AOB =90" |

Construct a tangent to a circle of radius 4cm from a point on the
concentric circle of radius 6 cm and measure its length. Also verify the

measurement by actual calculation. 4

6 mf aPEE @aralics JEER G5 TR @ 4 (2 AFIE JEE QT =T

s afE (T (FR | FOS 4T EEEl TS (S ST
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6 21/, AP G Feiva @ [ (A0S 4 @A AR TS N8 G e
GTS Wil TG | 0 AF@ S ARl (AS WA A FA

SECTION-E

33. A toy is in the form of a cone of radius 3-5c¢m mounted on a hemisphers
of same radius. The total height of the toy is 15-5cm. Find the tota

surface arca of the toy. A

a5l AT G GPNEIG 0 SE D S9@e 3-5 (&4, TG IE 961 2T o1
AGHIGE Yo THSI T 15.5 (23 | AOAIDR T2+ 07 74|

9F% g5 9FE YHITE T TN €or@ 35 LA JPIE 9 wwE
55 | sigsia (MG Twel 15-5 (1| Taba @6 e (crawe) W s

Or / &gl / W%

A cylindrical bucket, 32 em high and with radius of base 18 cm, is filled
with sand. This bucket is emptied on the ground and a conical heap 4
sand is formed. If the height of the conical heap is 24 cm, find the radiug

and slant height of the heap.

32 (& f3 63 TR 18 (&/¥. THRIME [T Wbl (@ Sigfe AT Al =44z o
@2 o NS AT TS GBI KT Siples w'a 7B 26 | *RF WFeT 7AwR Tt
24 (B3, TE, WO A Sl (NN Swol FiT B4 |
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34.

32 CLAL T g3R18 LA Bft e 7B =S Fifer wigfen amfe afed 2
Rl a8 AEreft wivee il wre 3l w5 wigfen v % = | % wigfen weibe
Tl 24 @i TeE, <giow e 3t foiw Twet R a |

I the median of the distribution given below is 28-5, find the values of
x and y. S

Class interval: | 0-10 | 10-20 | 20-30 | 3040 | 40 -50 | 50 60 Total

Freqﬁency <k 5 X 20 i ) y S 60

O Telenq Nal I 285, (O0F x wE yd WA Shred |

| =) e s [0-10[10-20 [20-30 [30-40 [ 40 -50 | 50 60 |
| ARt ¢ | 5 x 20 15 y 5 |60

e RereeTm waml If 285 T, TEA x R y-9F W @ @

: [0-10]10-20[20-30 [30-40 [40-50 [ 50 - 60 |
| Amcamel 2 | 5 = 15 Y 5 |60

e e i
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